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2017 New Lead2pass 200-105 Exam Questions Guarantee 200-105 Certification
am 100% Success (251-275)

2017 June Cisco Official New Released 200-105 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! You
can prepare for Cisco 200-105 exam with little effort because Lead2passis now at your service to act as a guide to pass Cisco
200-105 exam. Our Cisco 200-105 braindumps arerich in variety. We offer Cisco 200-105 PDF dumps and Cisco 200-105 VCE.
Both are the newest version. Following questions and answers are all new published by Cisco Official Exam Center:
http://www.lead2pass.com/200-105.html QUESTION 251Which two privileged mode Cisco |OS commands can be used to
determine a Cisco router chassis serial number? (Choosetwo.) A.  show diagB. show controllersC. show inventoryD. show
flash: filesysE. dir flash: | include chassisAnswer: AC QUESTION 252Which two are features of |Pv6? (Choose two.) A.
anycastB. broadcastC. multicastD. podcastE. allcast Answer: AC QUESTION 253Which three are characteristics of an IPv6
anycast address? (Choose three)) A.  one-to-many communication modelB.  one-to-nearest communication model C.
any-to-many communication modelD. aunique IPv6 address for each devicein the groupE. the same address for multiple
devicesin the groupF. delivery of packetsto the group interface that is closest to the sending device Answer: BEF QUESTION
254Given an |P address 172.16.28.252 with a subnet mask of 255.255.240.0, what is the correct network address? A.
172.16.16.0B. 172.16.0.0C. 172.16.24.0D. 172.16.28.0 Answer: A QUESTION 255Which command helps a network
administrator to manage memory by displaying flash memory and NVRAM utilization? A. show versionB. show ramC. show
flash:D. show file systems Answer: D QUESTION 256Which pairing reflects a correct protocol-and-metric relationship? A.
EIGRP and link costB.  OSPF and number of hops and reliabilityC. RIPv2 and number of hopsD. 1S-1Sand delay and
reliability Answer: C QUESTION 257A network administrator needs to allow only one Telnet connection to arouter. For anyone
viewing the configuration and issuing the show run command, the password for Telnet access should be encrypted. Which set of
commands will accomplish thistask? A.  service password-encryptionaccess-listl permit 192.168.1.0.0.0.0.255line vty0
4loginpassword ciscoaccess-class 1B.  enable password secretline vtyOloginpassword ciscoC.  service password-encryptionline
vtyOloginpassword ciscoD.  service password-encryptionline vtyO 4loginpassword cisco Answer: C QUESTION 258Which set of
commands is recommended to prevent the use of ahub in the accesslayer? A.  switch(config-if)#switchport mode
trunkswitch(config-if)#switchport port-security maximum 1B.  switch(config-if)#switchport mode
trunkswitch(config-if)#switchport port-security mac-address 1C.  switch(config-if)#switchport mode
accessswitch(config-if)#switchport port-security maximum 1D.  switch(config-if)#switchport mode
accessswitch(config-if)#switchport port-security mac-address 1 Answer: C QUESTION 259Refer to the exhibit. A frameon VLAN
1 on switch S1 is sent to switch S2 where the frameisreceived on VLAN 2. What causesthisbehavior? ~ A. trunk mode
mismatchesB. allowing only VLAN 2 on the destinationC. native VLAN mismatchesD. VLANSsthat do not correspond to a
unique | P subnet Answer: C QUESTION 260Which command reveal s the last method used to powercycle arouter? A.  show
reloadB. show bootC. show running-configD. show version Answer: D QUESTION 261Which two statements are
characteristics of a distance vector routing protocol? (Choose two.) A.  Each router hasits own view of the topology.B. Updates
are periodic and include the entire routing table.C. Routing updates are sent only after topology changes.D. Convergence is
usually faster than with link state protocols.E. RIPisan example of distance vector routing protocols.F. The protocol can be
useful in hub-and-spoke and hierarchical networks. Answer: BE QUESTION 262Which two Cisco |0S commands, used in
troubleshooting, can enable debug output to a remote location? (Choose two.) A.  terminal monitorB. logging host ip-addressC.
no logging consoleD. snmp-server enable traps syslogE.  show logging | redirect flash:output.txt Answer: AB QUESTION
263What is the default administrative distance of the OSPF routing protocol? A.  90B. 100C. 110D. 120E. 130F. 170
Answer: C QUESTION 264Refer to the topology shown in the exhibit. Which ports will be STP designated portsif all the links are
operating at the same bandwidth? (Choosethree) A. Switch A - Fa0/OB. Switch A - Fa0/1C. Switch B - Fa0/0OD. Switch B -
FaO/1E. Switch C - Fa0/OF. Switch C - Fa0/1 Answer: BCD QUESTION 265ScenarioRefer to the topology. Y our company has
connected the routers R1. R2. and R3 with serial links. R2 and R3 are connected to the switches SW1 and SW2, respectively. SW1
and SW2 are also connected to the routers R4 and R5.The EIGRP routing protocol is configured.Y ou are required to troubleshoot
and resolve the EIGRP issues between the various routers.Use the appropriate show commands to troubleshoot the issues.  Study
the following output taken on R1: R1# Ping 10.5.5.55 source 10.1.1.1Type escape sequence to abort.Sending 5.100-byte ICMP
Echosto 10.5.5.55, timeout is 2 seconds:Packet sent with a source address of 10.1.1.1 Why are the pingsfailing? A. The network
statement ismissing on R5.B.  The loopback interface is shut down on R5.C.  The network statement ismissingon R1.D. The
IP address that is configured on the Lol interface on R5 isincorrect. Answer: CExplanation:R5 does not have aroute to the 10.1.1.1
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network, which is the loopback0 |P address of R1. When looking at the EIGRP configuration on R1, we see that the 10.1.1.1
network statement ismissing on R1. QUESTION 266ScenarioRefer to the topology. Y our company has connected the routers R1.
R2. and R3 with serial links. R2 and R3 are connected to the switches SW1 and SW2, respectively. SW1 and SW2 are also
connected to the routers R4 and R5.The EIGRP routing protocol is configured.Y ou are required to troubleshoot and resolve the
EIGRP issues between the various routers.Use the appropriate show commands to troubleshoot theissues. Which path does traffic
takefrom R1to R5? A. Thetraffic goesthrough R2.B. Thetraffic goesthrough R3.C. Thetraffic isequally load-balanced over
R2 and R3.D. Thetraffic isunequally load-balanced over R2 and R3. Answer: AExplanation:Using the "show ip int brief
command" on R5 we can see the I P addresses assigned to this router. Then, using the "show ip route" command on R1 we can see
that to reach 10.5.5.5 and 10.5.5.55 the preferred path is via Serial 1/3, which we see from the diagram is the link to R2.
QUESTION 267ScenarioRefer to the topology. Y our company has connected the routers R1. R2. and R3 with serial links. R2 and
R3 are connected to the switches SW1 and SW2, respectively. SW1 and SW2 are also connected to the routers R4 and R5.The
EIGRP routing protocol is configured.Y ou are required to troubleshoot and resolve the EIGRP issues between the various
routers.Use the appropriate show commands to troubleshoot the issues. Router R6 does not form an EIGRP neighbor relationship
correctly with router R1.What is the cause for this misconfiguration? A. The K values mismatch.B. The AS does not match.C.
The network command ismissing.D. The passive-interface command is enabled. Answer: CExplanation:The link from R1to R6 is
shown below: Asyou can seeg, they are both using €0/0. The IP addresses are in the 192.168.16.0 network: But when we look at
the EIGRP configuration, the "network 192.168.16.0" command ismissing on R6. Study the following output taken on R1:R1#
Ping 10.5.5.55 source 10.1.1.1Type escape sequence to abort.Sending 5, 100-byte ICMP Echosto 10.5.5.55, timeout is 2
seconds: Packet sent with a source address of 10.1.1.1.......Success rate is O percent (0/5) QUESTION 268ScenarioRefer to the
topology. Y our company has connected the routers R1. R2. and R3 with serial links. R2 and R3 are connected to the switches SW1
and SW2, respectively. SW1 and SW2 are also connected to the routers R4 and R5.The EIGRP routing protocol is configured.Y ou
are required to troubleshoot and resolve the EIGRP issues between the various routers.Use the appropriate show commands to
troubleshoot the issues. The loopback interfaces on R4 with the | P addresses of 10.4.4.4 /32, 10.4.4.5/32. And 10.4.4.6/32 are not
appearing in the routing table of R5 Why are the interfaces missing? A.  The interfaces are shutdown, so they are not being
advertised.B. R4 has been incorrectly configured to be in another AS, so it does not peer with R5.C.  Automatic summarization is
enabled, so only the 10.0.0.0 network is displayed.D. The loopback addresses haven't been advertised, and the network command
ismissing on R4. Answer: BExplanation:For an EIGRP neighbor to form, the following must match:- Neighbors must be in the
same subnet- K values-AS numbers-Authentication method and key stringsHere, we see that R4 is configured for EIGRP AS 2,
when it should be AS1. QUESTION 269Which two statements about the OSPF Router ID are true? (Choose two.) A. It
identifies the source of aType 1 LSA.B. It should be the same on all routersin an OSPF routing instance.C. By default, the
lowest | P address on the router becomes the OSPF Router ID.D.  D. The router automatically chooses the IP address of aloopback
asthe OSPF Router ID.E. It is created using the MAC Address of the loopback interface. Answer: ADExplanation:From the
output of the "show ip ospfdatabase”: r120#show ip ospf dataOSPF Router with ID (10.0.0.120) (Process ID1) Next, who are the
other routersin our area?Router Link States (Area 1)Link ID ADV Router Age Seg# Checksum Link count10.0.0.111 10.0.0.111
600 0x8000023A 0x0092B3 110.0.0.112 10.0.0.112 1246 0x80000234 0x009CAC 110.0.0.113 10.0.0.113 148 0x8000022C
0x004399 310.0.0.120 10.0.0.120 152 0x80000240 0x0046CB 1Thistells usthere are four routersin Area 1. The router with RID
10.0.0.113 has 3 linksin Area 1, every one else has only 1 link. Also the router will chose the highest loopback interface as its OSPF
router 1D (if available). QUESTION 270What OSPF command, when configured, will include all interfacesinto area 0? A.
network 0.0.0.0 255.255.255.255 area OB.  network 0.0.0.0 0.0.0.0 area0C. network 255.255.255.255 0.0.0.0 areaOD. network
all-interfaces area 0 Answer: AExplanation:Example 3-1 displays OSPF with a process ID of 1 and places al interfaces configured
with an IP addressin area 0. The network command network 0.0.0.0 255.255.255.255 area O dictates that you do not care what the
IP addressis, but if an IP addressis enabled on any interface, placeit in area 0.Example 3-1 Configuring OSPF in a Single Area
router ospf 1 network 0.0.0.0 255.255.255.255 area 0 QUESTION 271Refer to the exhibit. What addressis afeasible successor? A.
172.16.4.0B. 10.1.4.4C. 10.1.2.2D. 172.16.3.0 Answer: CExplanation: The feasible condition states:"To qualify asafeasible
successor, arouter must have an AD less than the FD of the current successor route".In this case, we see 10.1.2.2 shows an AD less
than the current successor of 10.1.4.4 QUESTION 272Refer to the exhibit. If the router Cisco returns the given output and has not
had itsrouter ID set manually, what value will OSPF use asitsrouter ID? A. 192.168.1.1B. 172.16.1.1C. 1.1.1.1D. 2222
Answer: DExplanation:If arouter-id is not configured manually in the OSPF routing process the router will automatically configure
arouter-id determined from the highest | P address of alogical interface (loopback interface) or the highest I P address of an active
interface. If more than one loopback interfaces are configured, the router will compare the | P addresses of each of the interfaces and
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choose the highest | P address from the loopbacks. QUESTION 273Which statement describes VRRP object tracking? A. It
monitors traffic flow and link utilization.B. It ensures the best VRRP router is the virtual router master for the group.C. It causes
traffic to dynamically move to higher bandwidth links.D. It thwarts man-in-the-middle attacks. Answer: BExplanation:VRRP
object tracking provides away to ensure the best VRRP router is virtual router master for the group by altering VRRP priorities to
the status of tracked objects such as interface or | P route states.
http://www.cisco.com/c/en/usitd/docs/ios-xml/ios/ipapp_fhrp/configuration/xe-3s/fhp-xe-3s-book/fhp-vrrp.html QUESTION
274What are two benefits of using a single OSPF area network design? (Choosetwo.) A. Itisless CPU intensive for routersin the
singlearea.B. It reducesthe types of LSAsthat are generated.C. It removes the need for virtual links.D. It increases LSA
responsetimes.E. It reduces the number of required OSPF neighbor adjacencies. Answer: BCExplanation:OSPF uses a LSDB (link
state database) and fills thiswith LSAs (link state advertisement). The link types are as follows:L SA Type 1: Router LSALSA Type
2: Network LSALSA Type 3: Summary LSALSA Type 4: Summary ASBR LSALSA Type 5: Autonomous system external
LSALSA Type 6: Multicast OSPF LSALSA Type 7: Not-so-stubby area LSALSA Type 8: External attribute LSA for BGPIf al
routers are in the same area, then many of these LSA types (Summary ASBR LSA, external LSA, etc) will not be used and will not
be generated by any router.All areasin an Open Shortest Path First (OSPF) autonomous system must be physically connected to the
backbone area (Area 0) . In some cases, where thisis not possible, you can use avirtual link to connect to the backbone through a
non-backbone area. Y ou can also use virtual links to connect two parts of a partitioned backbone through a non-backbone area. The
area through which you configure the virtual link, known as atransit area, must have full routing information. The transit area
cannot be astub area. Virtual links are not ideal and should really only be used for temporary network solutions or migrations.
However, if all locations are in asingle OSPF area this is not needed. QUESTION 275What can cause two OSPF neighbors to be
stuck in the EXSTART state? A.  Thereisalow bandwidth connection between neighbors.B.  The neighbors have different MTU
settings.C.  The OSPF interfaces arein apassive state.D. Thereis only layer one connectivity between neighbors. Answer: B
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